

Quote

Date	Estimate #
10/17/2025	11684

Name / Address	1
Livonia Public Schools ap@livoniapublicschools.org	
	1

Rep CA

Description	Qty	Rate	Total
FOR: Buchanan LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	35	32.99	1,154.65
Shipping - Provided by Nightlock		0.00	0.00

wake sure you inform local police and the departments when locks are instance in their jurisdictions.	Subtotal	\$1,154.65
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$1,154.65

Phone # 855-644-4856



Quote

Date	Estimate #
10/17/2025	11683

Name / Address	
Livonia Public Schools ap@livoniapublicschools.org	

Rep CA

Description	Qty	Rate	Total
FOR: Churchill LSS1242 Lockdown Safety Shade 12 in. W x 42 in. L	66	20.99	1,385.34
Shipping - Provided by Nightlock		0.00	0.00

wake sure you inform local police and the departments when locks are histalical in their jurisdictions.	Subtotal	\$1,385.34
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$1,385.34

Phone # 855-644-4856



Quote

Date	Estimate #
10/17/2025	11682

Name	/	Address
------	---	---------

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Qty	Rate	Total
20	93.75	1,875.00
12	43.75	525.00
8	35.99	287.92
8	32.99	263.92
2	99.74	199.48
	0.00	0.00
	20 12 8 8 2	20 93.75 12 43.75 8 35.99 8 32.99 2 99.74 0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$3,151.32

Total

\$3,151.32

Phone # 855-644-4856



Quote

Date	Estimate #	
10/16/2025	11664	

Name / Address	
Livonia Public Schools ap@livoniapublicschools.org	

Rep CA

Description	Qty	Rate	Total
FOR: COOPER LSSCU2648 Lockdown Safety Shade 26 in. W x 48 in. L	5	68.75	343.75
LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	3	35.99	107.97
LSS1242 Lockdown Safety Shade 12 in. W x 42 in. L	5	20.99	104.95
Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$556.67

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11651

Nar	ne /	Ac	bk	ress

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Emerson LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	11	35.99	395.89
LSSCU3248 Lockdown Safety Shade 32 in. W x 48 in. L	4	84.50	338.00
LSSCU3236 Lockdown Safety Shade 32 in. W x 36 in. L	4	63.50	254.00
LSSCU3648 Lockdown Safety Shade 36 in. W x 48 in. L	1	95.25	95.25
LSSCU3642 Lockdown Safety Shade 36 in. W x 42 in. L	1	83.25	83.25
LSSCU4848 Lockdown Safety Shade 48 in. W x 48 in. L	2	99.25	198.50
LSSCU3652 Lockdown Safety Shade 36 in. W x 52 in. L	1	103.00	103.00
LSSCU3632 Lockdown Safety Shade 36 in. W x 32 in. L	1	63.50	63.50
LSSCU3276 Lockdown Safety Shade 32 in. W x 76 in. L	2	104.75	209.50
LSSCU10148 Lockdown Safety Shade 101 in. W x 48 in. L	1	208.50	208.50
LSSCU2448 Lockdown Safety Shade 24 in. W x 48 in. L	9	63.50	571.50
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	9	32.99	296.91
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation. Make sure you inform local police and fire departments when locks are installed in their jurisdictions. Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$2,817.80

Total

\$2,817.80

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11660

Name / Address	
Livonia Public Schools ap@livoniapublicschools.org	

Rep CA

Description	Qty	Rate	Total
FOR: Franklin LSS1042 Lockdown Safety Shade 10 in. W x 42 in. L	9	18.99	170.91
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation. Make sure you inform local police and fire departments when locks are installed in their jurisdictions.	Subtotal	\$170.91
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$170.91

Phone # 855-644-4856 www.nig



Quote

Date	Estimate #
10/16/2025	11657

Name / Address

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Garfield LSSCU9080 Lockdown Safety Shade 90 in. W x 80 in. L	2	309.75	619.50
LSSCU2380 Lockdown Safety Shade 23 in. W x 80 in. L	2	101.25	202.50
LSSCU3280 Lockdown Safety Shade 32 in. W x 80 in. L	1	110.25	110.25
LSSCU7680 Lockdown Safety Shade 76 in. W x 80 in. L	1	261.50	261.50
LSSCU7678 Lockdown Safety Shade 76 in. W x 78 in. L	6	255.00	1,530.00
LSSCU3880 Lockdown Safety Shade 38 in. W x 80 in. L	1	130.75	130.75
LSSCU10680 Lockdown Safety Shade 106 in. W x 80 in. L	1	364.75	364.75
LSSCU13578 Lockdown Safety Shade 13.5 in. W x 78 in. L	5	60.25	301.25
LSSCU37578 Lockdown Safety Shade 37.5 in. W x 78 in. L	8	127.50	1,020.00
LSSCU35578 Lockdown Safety Shade 35.5 in. W x 78 in. L	2	120.75	241.50
LSSCU30580 Lockdown Safety Shade 30.5 in. W x 80 in. L	4	106.75	427.00
LSSCU3678 Lockdown Safety Shade 36 in. W x 78 in. L	2	120.75	241.50
LSSCU3878 Lockdown Safety Shade 38 in. W x 78 in. L	2	127.50	255.00
Shipping - Provided by Nightlock		0.00	0.00
Note: It is your responsibility to acquire any approvals needed from lo Make sure you inform local police and fire departments when locks ar Note: Refund Policy: If returning unused product, we offer a full refundable.	e installed in their jurisdic	tions. Subtot	al \$5,705.50

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation. Make sure you inform local police and fire departments when locks are installed in their jurisdictions. Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US. Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal \$5,705.50

Sales Tax (0.0%) \$0.00

Total \$5,705.50

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11650

Name / Address

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Grant LSS1242 Lockdown Safety Shade 12 in. W x 42 in. L	12	20.99	251.88
LSSCU4060 Lockdown Safety Shade 40 in. W x 60 in. L	2	103.23	206.46
LSSCU4031 Lockdown Safety Shade 40 in. W x 31 in. L	2	68.25	136.50
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	4	32.99	131.96
LSSCU1750 Lockdown Safety Shade 17 in. W x 50 in. L	1	46.75	46.75
LSSCU1734 Lockdown Safety Shade 17 in. W x 34 in. L	1	32.00	32.00
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	1	32.99	32.99
LSSCU2026 Lockdown Safety Shade 20 in. W x 26 in. L	1	28.75	28.75
LSSCU2651 Lockdown Safety Shade 26 in. W x 51 in. L	3	73.00	219.00
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	3	32.99	98.97
LSSCU3456 Lockdown Safety Shade 34 in. W x 56 in. L	4	104.75	419.00
LSSCU3030 Lockdown Safety Shade 30 in. W x 30 in. L	2	49.50	99.00
LSSCU2858 Lockdown Safety Shade 28 in. W x 58 in. L	8	89.50	716.00
Grant New Windows LSSCU1246 Lockdown Safety Shade 12 in. W x 46 in. L	4	30.50	122.00
LSSCU2733 Lockdown Safety Shade 27 in. W x 33 in. L	2	49.25	98.50

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Total

Phone # 855-644-4856

www.nightlock.com

Page 1



Quote

Date	Estimate #
10/16/2025	11650

Name / Address	
Livonia Public Schools ap@livoniapublicschools.org	

Rep CA

Description	Qty	Rate	Total
LSSCU3224 Lockdown Safety Shade 32 in. W x 24 in. L	2	42.25	84.50
LSSCU3356 Lockdown Safety Shade 33 in. W x 56 in. L	4	101.75	407.00
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	1	32.99	32.99
Shipping - Delivered by Nightlock **Shipping for all locations***		250.00	250.00

wake sure you inform local ponce and the departments when locks are histaned in their jurisdictions.	Subtotal	\$3,414.25
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$3,414.25

Phone # 855-644-4856 www.nightlock.com Page 2



Quote

Date	Estimate #
10/16/2025	11667

Name / Address

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Hayes LSSCU44825 Lockdown Safety Shade 44 in. W x 82.5 in. L	21	157.25	3,302.25
LSSCU28855 Lockdown Safety Shade 28 in. W x 85.5 in. L	2	103.75	207.50
LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	1	35.99	35.99
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	1	32.99	32.99
LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	1	35.99	35.99
LSSCU425845 Lockdown Safety Shade 42.5 in. W x 84.5 in.	2	157.25	314.50
LSSCU38579 Lockdown Safety Shade 38.5 in. W x 79 in. L	1	132.50	132.50
LSSCU385805 Lockdown Safety Shade 38.5 in. W x 80.5 in. L	1	136.00	136.00
LSSCU205305 Lockdown Safety Shade 20.5 in. W x 30.5 in. L	2	36.00	72.00
LSSCU205265 Lockdown Safety Shade 20.5 in. W x 26.5 in. L	2	31.25	62.50
Shipping - Provided by Nightlock		0.00	0.00
Note: It is your responsibility to acquire any approvals needed from lo	ocal code officials prior to	inetallation	

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$4,332.22

Total

\$4,332.22

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11663

Name	1	Ad	dr	ess
------	---	----	----	-----

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Holmes LSSCU3840 Lockdown Safety Shade 38 in. W x 40 in. L	6	83.75	502.50
LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	1	35.99	35.99
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	4	32.99	131.96
LSSCU3640 Lockdown Safety Shade 36 in. W x 40 in. L	3	79.25	237.75
LSSCU4456 Lockdown Safety Shade 44 in. W x 56 in. L	1	106.00	106.00
LSSCU2856 Lockdown Safety Shade 28 in. W x 56 in. L	1	86.25	86.25
Shipping - Provided by Nightlock		0.00	0.00

wake sure you inform local police and the departments when locks are instance in their jurisdictions.	Subtotal	\$1,100.45
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$1,100.45

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11648

Name / Address

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: HOOVER LSS1242 Lockdown Safety Shade 12 in. W x 42 in. L	22	20.99	461.78
LSSCU2150 Lockdown Safety Shade 21 in. W x 50 in. L	1	57.75	57.75
LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	1	35.99	35.99
LSS2842 Lockdown Safety Shade 28 in. W x 42 in. L	1	42.99	42.99
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	1	32.99	32.99
LSSCU4050 Lockdown Safety Shade 40 in. W x 50 in. L	1	110.00	110.00
LSSCU1448 Lockdown Safety Shade 14 in. W x 48 in. L	6	37.00	222.00
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$963.50

Total

\$963.50

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11653

Name / Address

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Johnson LSS0836 Lockdown Safety Shade 08 in. W x 36 in. L	2	15.99	31.98
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	6	32.99	197.94
LSSCU2553 Lockdown Safety Shade 25 in. W x 53 in. L	1	73.00	73.00
LSSCU4251 Lockdown Safety Shade 42 in. W x 51 in. L	2	92.25	184.50
LSSCU6951 Lockdown Safety Shade 69 in. W x 51 in. L	1	151.50	151.50
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	2	32.99	65.98
LSS0836 Lockdown Safety Shade 08 in. W x 36 in. L	1	15.99	15.99
LSSCU1751 Lockdown Safety Shade 17 in. W x 51 in. L	1	47.75	47.75
LSSCU3452 Lockdown Safety Shade 34 in. W x 52 in. L	8	97.25	778.00
LSSCU2151 Lockdown Safety Shade 21 in. W x 51 in. L	1	59.00	59.00
LSS0836 Lockdown Safety Shade 08 in. W x 36 in. L	1	15.99	15.99
LSSCU3553 Lockdown Safety Shade 35 in. W x 53 in. L	2	102.25	204.50
LSSCU2031 Lockdown Safety Shade 20 in. W x 31 in. L	2	34.25	68.50
Shipping - Provided by Nightlock		0.00	0.00
Note: It is your responsibility to acquire any approvals needed from le	ocal code officials prior to	installation	\$1.004.62

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$1,894.63

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11647

Name / Address	
ivonia Public Schools ap@livoniapublicschools.org	

Rep CA

Qty	Rate	Total
1	35.99	35.99
3	90.75	272.25
1	100.50	100.50
	0.00	0.00
	1	1 35.99 3 90.75 1 100.50

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation. Make sure you inform local police and fire departments when locks are installed in their jurisdictions.	Subtotal	\$408.74
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$408.74

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11654

Name / Address

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: LCTC LSSCU1045 Lockdown Safety Shade 10 in. W x 45 in. L	1	24.75	24.75
LSSCU2476 Lockdown Safety Shade 24 in. W x 76 in. L	9	100.50	904.50
LSSCU3848 Lockdown Safety Shade 38 in. W x 48 in. L	3	95.25	285.75
LSSCU3624 Lockdown Safety Shade 36 in. W x 24 in. L	1	47.75	47.75
LSSCU2535 Lockdown Safety Shade 25 in. W x 35 in. L	1	48.25	48.25
LSSCU1216 Lockdown Safety Shade 12 in. W x 16 in. L	2	18.00	36.00
LSSCU2545 Lockdown Safety Shade 25 in. W x 45 in. L	2	62.00	124.00
LSSCU2526 Lockdown Safety Shade 25 in. W x 26 in. L	2	35.75	71.50
LSSCU3024 Lockdown Safety Shade 30 in. W x 24 in. L	2	39.75	79.50
LSSCU3048 Lockdown Safety Shade 30 in. W x 48 in. L	2	79.25	158.50
LSSCU3076 Lockdown Safety Shade 30 in. W x 76 in. L	2	98.25	196.50
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$1,977.00

Total

\$1,977.00

Phone # 855-644-4856



Quote

Date	Estimate #	
10/16/2025	11665	

Name / Address
Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: LECC LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	17	35.99	611.83
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	17	32.99	560.83
LSSCU17547 Lockdown Safety Shade 17.5 in. W x 47 in. L	61	46.75	2,851.75
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$4,024.41

Total

Phone # 855-644-4856 v



Quote

Date	Estimate #	
10/16/2025	11649	

Name / Address	
Livonia Public Schools ap@livoniapublicschools.org	

Rep CA

Description	Qty	Rate	Total
FOR: Niji-Iro			
LSSCU1592 Lockdown Safety Shade 15 in. W x 92 in. L	2	76.00	152.00
LSSCU0956 Lockdown Safety Shade 09 in. W x 56 in. L	2	27.75	55.50
LSSCU0945 Lockdown Safety Shade 09 in. W x 45 in. L	1	22.50	22.50
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation. Make sure you inform local police and fire departments when locks are installed in their jurisdictions.	Subtotal	\$230.00
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$230.00

Phone # 855-644-4856



Quote

Date	Estimate #	
10/16/2025	11659	

Na	me	/ A	dd	ress

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Riley LSSCU2484 Lockdown Safety Shade 24 in. W x 84 in. L	5	86.75	433.75
LSSCU4184 Lockdown Safety Shade 41 in. W x 84 in. L	2	148.25	296.50
LSSCU3984 Lockdown Safety Shade 39 in. W x 84 in. L	1	141.00	141.00
LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	2	35.99	71.98
LSSCU3880 Lockdown Safety Shade 38 in. W x 80 in. L	2	130.75	261.50
LSSCU2480 Lockdown Safety Shade 24 in. W x 80 in. L	5	105.75	528.75
LSSCU3874 Lockdown Safety Shade 38 in. W x 74 in. L	1	121.00	121.00
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$1,854.48

Phone # 855-644-4856 www.nightlock.com



Quote

Date	Estimate #
10/16/2025	11658

Name / Address	
Hullo / Addi 000	
Livonia Public Schools ap@livoniapublicschools.org	

Rep CA

Description	Qty	Rate	Total
FOR: Roosevelt LSS1236 Lockdown Safety Shade 12 in. W x 36 in. L	3	19.99	59.97
LSS2636 Lockdown Safety Shade 26 in. W x 36 in. L	7	32.99	230.93
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation. Make sure you inform local police and fire departments when locks are installed in their jurisdictions.	Subtotal	\$290.90
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$290.90

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11655

Name / Address

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Rosedale LSSCU3476 Lockdown Safety Shade 34 in. W x 76 in. L	2	111.25	222.50
LSSCU9350 Lockdown Safety Shade 93 in. W x 50 in. L	2	200.00	400.00
LSSCU3082 Lockdown Safety Shade 30 in. W x 82 in. L	8	106.00	848.00
LSSCU1476 Lockdown Safety Shade 14 in. W x 76 in. L	1	55.50	55.50
LSSCU1852 Lockdown Safety Shade 18 in. W x 52 in. L	1	51.50	51.50
LSSCU3247 Lockdown Safety Shade 32 in. W x 47 in. L	1	82.75	82.75
LSS0836 Lockdown Safety Shade 08 in. W x 36 in. L	1	15.99	15.99
LSSCU1852 Lockdown Safety Shade 18 in. W x 52 in. L	2	51.50	103.00
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$1,779.24

Total

\$1,779.24

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11668

Name	/	Ad	dr	ess
------	---	----	----	-----

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Stevenson LSS2642 Lockdown Safety Shade 26 in. W x 42 in. L	4	35.99	143.96
LSS1242 Lockdown Safety Shade 12 in. W x 42 in. L	10	20.99	209.90
LSS1242 Lockdown Safety Shade 12 in. W x 42 in. L	4	20.99	83.96
LSSCU1250 Lockdown Safety Shade 12 in. W x 50 in. L	2	33.00	66.00
LSS1236 Lockdown Safety Shade 12 in. W x 36 in. L	20	19.99	399.80
LSS1242 Lockdown Safety Shade 12 in. W x 42 in. L	20	20.99	419.80
Shipping - Provided by Nightlock		0.00	0.00

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$1,323.42

Total

\$1,323.42

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11661

N	aı	me	9 /	Α	dd	res	SS		
			$\overline{}$		1.	$\overline{}$	$\overline{}$	_	_

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Webster LSSCU3698 Lockdown Safety Shade 36 in. W x 98 in. L	13	151.75	1,972.75
LSSCU3969 Lockdown Safety Shade 39 in. W x 69 in. L	10	115.75	1,157.50
LSSCU2085 Lockdown Safety Shade 20 in. W x 85 in. L	4	93.50	374.00
LSSCU3183 Lockdown Safety Shade 31 in. W x 83 in. L	6	110.75	664.50
LSSCU3564 Lockdown Safety Shade 35 in. W x 64 in. L	2	96.50	193.00
LSSCU2889 Lockdown Safety Shade 28 in. W x 89 in. L	2	107.25	214.50
Shipping - Provided by Nightlock		0.00	0.00

wake sure you inform local ponce and me departments when locks are histaned in their jurisdictions.	Subtotal	\$4,576.25
Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades. Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.	Sales Tax (0.0%)	\$0.00
Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.	Total	\$4,576.25

Phone # 855-644-4856



Quote

Date	Estimate #
10/16/2025	11669

Name /	Address
--------	---------

Livonia Public Schools ap@livoniapublicschools.org

Rep CA

Description	Qty	Rate	Total
FOR: Frost LSSCU3444 Lockdown Safety Shade 34 in. W x 44 in. L	2	82.50	165.00
LSSCU25544 Lockdown Safety Shade 25.5 in. W x 44 in. L	1	63.00	63.00
LSSCU2654445 Lockdown Safety Shade 26.5 in. W x 44.5 in. L	1	67.00	67.00
LSSCU52485 Lockdown Safety Shade 52 in. W x 48.5 in. L	2	109.75	219.50
LSSCU5240 Lockdown Safety Shade 52 in. W x 40 in. L	1	89.50	89.50
LSSCU51565 Lockdown Safety Shade 51 in. W x 56.5 in. L	8	125.25	1,002.00
LSSCU25544 Lockdown Safety Shade 25.5 in. W x 44 in. L	6	63.00	378.00
Shipping - Provided by Nightlock		0.00	0.00
N. E. 110 1	1 1 00 11 1		

Note: It is your responsibility to acquire any approvals needed from local code officials prior to installation.

Make sure you inform local police and fire departments when locks are installed in their jurisdictions.

Note: Refund Policy: If returning unused product, we offer a full refund minus freight costs and a 20% restocking fee. No returns or refunds on custom shades.

Note: Install policy: Nightlock can provide professional installation anywhere in the continental US.

Nightlock is not responsible for failures or damage resulting from installation by customer or third party installer.

Subtotal

\$1,984.00

Total

\$1,984.00

Phone # 855-644-4856